7.3 Linear Functions (Day 1) Name

poShive Slope

Determine which equations have graphs that nse (going from le} to right) and which have

graphs th?t fall. Check our answers by graphing each equation on your calculator.
1

gk Jou
2. y=—4x, y=2x, y=——x

1. y=3x, y-—x y——3x
pos-  pos:  Ne€g- NI i 0
3. y=-2x-1, y=—4x+3, y=2x+5 4. y=3-2x, y=-2x+3, y=5+3x
nég.  n€g.  pos. neg-  pos.
Find the slope of the line through each pair of points.
5. (-1,3{and (2, -6) 6. (-3 1) and (-1, -5)
XNy X2 y2 XY X2Y2

= "g;— :'5— m= "6" :_(e_____
2-¢1) Q J-3)" i "'s 3]

Determine the slope and y-intercept for each equation.

7. y=2x-4 8. 2x+3y=2
m= 4 Sole€ for \f .,fjf" 3‘/::;2,(
= -4 M= "%/3 2y =-2xtZ
o= %3 e
9. —x+3y+2=0 10. —x—3y=8 \ = '%‘X*%

m= /3

m= /3
bz ~8/3

b-:,»l/a

Draw the line that contains the given point P and has slope m.
11. (1, 2) and m=2 12. (3, -1) and m = undefined \[1 %
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Write an equation ofzthe line passing through the given point and having slope m.
13, (-)-‘(I ,0)and m== 14. (-1, 3)and m=10
Yy

15. Write an equation of the line with slope, m = —% , and y-intercept, b=-3,
Jit e S

Write an equation of both the vertical and horizontal line through the given point.
16. (-2, 3) 17. (O, -2)

Nortigal: X=~ 2 Next: ¥=0
Honzontal> =35 Hoiz: -2

Wirite an equation of the line through the given pair of points.
19. (8, 1) and (8, -4)

18. (1,0 and 3, 1)
S A = \maeﬂned
e =% L
,3',(‘0’ = Yx; 8
0 = = (x-())

21. (0, 300) and (10, 365)

20.(1.1) and (0, 2)
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